S AR B
%ﬂﬂlza)ﬁifﬁl-.ﬁ'd'éPMl{El 1o 1) O) BT K A AR 8 (BB

=P KE B
5 (A) 47,000 250,000 280,000
_________________ UNIES |
BRBREARMB) | 1{EE i 12

EREEE A (C) (3,849,000 27,512,255 702,000 9

1ES =YD 2,210 110F 3
HEREE 829 *

((B)+(C)) = (A)
*CAREBICHET—2EHALIES)



EVERELR2
EwRomE 8T ICD1{E s r-vouss=se @
EHmL EEAYOHEEEDOSA (PMA)

=P KE B
i5% (A) 2,400 110,000 70,000
_________________ TE T PRICR e S . |- P B 0 0 1 e P N
BEBERMB) | 2EF L L

BEEEF(C) (3,849,000 27,512,255 702,000/

1{EALEYD 84,937 250 10
WERE 1,604+

((B)+(C)) = (A)
*GAREHICNET—SEEALEES)



